

City Council Agenda

Date: 05/28/2019

To: The Honorable Mayor and City Council

Subject: CRM # 76243 - Re-Bid Parkers Canal Stream Stabilization

Summary of Requested Action:

Recommendation is to award this contract to the lowest responsive responsible bidder, BCS Contractors, LLC for a total cost of \$493,638.00. A 10% contingency is also being requested in the amount of \$49,363.80 for this project. This project will paid for out of account number 64094649-559301-10027, which has a balance of \$573,304.36.

Department Requesting Action: Public Works

Budgetary Impact:

Funds programmed in CIP and appropriated in current budget.

City Manager's Recommendation: Lucanmend Approval. A Jane 46/3/19

MEMORANDUM



To:

Amy Staton, Director of Finance

From:

Candice Kirtz, Purchasing Manager

Date:

5/28/2019

Re:

CRM #76243 - Re-Bid Parkers Canal Stream Stabilization

Bids were received and opened April 9, 2019 for "CRM #76243 Re-Bid Parkers Canal Stream Stabilization". The subject bid was advertised in the Rocky Mount Telegram newspaper and on the City of Rocky Mount Purchasing webpage. Proposals were submitted by two (2) firms as shown on the attached tabulation.

The bids received were evaluated with Marc T. Horstman, PE, PH, CFM of W.K. Dickson & Company, Incorporated and the Director of Public Works. After reviewing the bids received and the attached "Letter of Recommendation for Award" from Marc T. Horstman, PE, PH, CFM, it is our recommendation to award this contract to the lowest responsive responsible bidder, BCS Contractors, LLC at their total cost of \$493,638.00. Mr. William Brian Colbert is the member manager of BCS Contractors, LLC. A 10% contingency is also being requested in the amount of \$49,363.80 for this project.

This project will be paid for out of fund account number 64094649-559301-10027, which has a balance of \$573,304.36.

A contract will be issued to the successful bidder based upon City Council award.

I concur with the above recommendation.

Brad Kerr

Director of Public Works

Amy Staton

Director of Finance

Chris Beschler

Assistant City Manager

Rochelle D. Small-Toney

City Manager

BID TABULATION SHEET OWNER:

City of Rocky Mount, North Carolina

I Certify that this is a true and corrected record of blds received.

PROJECT:

Parkers Canal Stream Stabilization ReBid Number 76243

Conference Room 3, 2nd Floor of Fredrick E. Turnage Administrative Complex, 331

LOCATION: DATE:		South Franklin Street, Rocky Mount, North Carolina 27804-5712			W.K. Dickson & Co., Inc.				1011000	, 2		
		9-Apr-19			Raleigh, N.C.				HORNING			
	ns that have been bolde	d, highlighted and Italicized are mathematical corrections.	****		NC License No F-0374							
Firm: Address: License Number/Bid Bond				BCS Contractors I 1180 Tyson Loop R Spring Hope, NC 2 NC License No.		td	Trader Construction Company 2500 Hwy 70 E New Bern, NC 28563 NC License No,			pany 29		
	PAYMENT SPECIFICATION											
ITEM NO.	REFERENCE	DESCRIPTION	EST QTY	UNIT	UNIT PRICE	TOTAL PRICE	50 50	UNIT PRICE	101.	AL PRICE		
BASE BID:	Т	III. 18 10 10 10 10 10 10 10 10 10 10 10 10 10		1			3c.					
11		Mobilization (3% of Base Bid)	1	LS	\$ 14,000.00	\$ 14,000.00	\$	17,000.00		17,000.		
22	SP2	Testing Allowance Demolition	1 1	LS	\$ 10,000,00	\$ 10,000.00	\$	10,000.00	1	10,000.		
3			1	LS	\$ 56,800,00	\$ 56,800.00	\$	15,000,00	1	15,000.		
4	SP3	Utility Coordination	1 1	LS	\$ 1,000,00	\$ 1,000.00	\$	2,200,00		2,200.		
5	CI	Rock Excavation	10	CY	\$ 1,000.00	\$ 10,000.00	\$	15.00		150.		
6	CI	Select Backfill	100	TN	\$ 20,00	\$ 2,000.00	S	35.00	\$	3,500.		
7	SP4	Erosion Control Liner	50	SY	\$ 100,00	\$ 5,000.00	\$	7,40	\$	370.		
8	CI	#57 Stone	100	TN	\$ 52.50	\$ 5,250.00	\$	60.00	\$	6,000.		
9	SP5	Encapsulated Soil Lifts	205	LF	\$ 500,00	\$ 102,500.00	\$	210.00	\$	43,050		
10	SP6	Precast Custom Culvert Headwall - 1	1	EA	\$ 27,000.00	\$ 27,000.00	\$	35,000.00	\$	35,000		
11	SP7	Precast Custom Culvert Headwall - 2	1	EA	\$ 27,000.00	\$ 27,000.00	\$	35,000,00	\$	35,000		
12	SP8	14'W x 7'H Precast Culvert	15	l.F	\$ 4,067.00	\$ 61,005.00	\$	9,500.00	\$	142,500.		
13	SP9	Riffle Grade Control	11	LS	\$ 37,700,00	\$ 37,700.00	S		\$	115,000.		
14	SP10	Zone 1 Planting, Live Stakes	200	EA	\$ 10.00	\$ 2,000.00	\$	5.25	\$	1,050.		
15	SP11	Zone 2 Planling, Bank Stabilization	250	EA	\$ 10.00	\$ 2,500.00	S	8.40	\$	2,100.		
16	SP12	Log Grade Control	2	EA	\$ 3,500.00	\$ 7,000.00	\$	2,375.00	\$	4,750.		
17	SP13	Riparian Seeding	60	LB	\$ 100,00	\$ 6,000.00	\$	31,60	\$	1,896.		
18		Permanent Seeding & Mulching	2750	SY	\$ 1,80	\$ 4,950.00	\$	0,80	\$	2,200		
19		8" PVC Storm Drain Cleanout	2	EA	\$ 500.00	\$ 1,000.00	\$	692.00	\$	1,384		
20		8" PVC Storm Drainage Pipe	60	LF	\$ 50.00	\$ 3,000.00	\$	18.50	\$	1,110.		
21		Temporary Rock Silt Check Dam	2	EA	\$ 750.00	\$ 1,500.00	\$	370,00	\$	740.		
22	ļ	Temporary Block and Gravel Curb Inlet Protection (CRM Std. 3.5)	2	EA	\$ 400,00	\$ 800.00	\$	263,00	\$	526.		
23		Temporary Construction Entrance	1	EA	\$ 2,500.00	\$ 2,500.00	\$	1,960.00	\$	1,960		
24		Temporary Silt Fence (CRM Std. 3.3)	925	LF	\$ 5.00	\$ 4,625.00	s	3.50	\$	3,237.		
25	SP14	Special Stilling Basin	2	EA	\$ 500,00	\$ 1,000,00	s	1,000,00	\$	2,000		
26	SP15	Construction Staking	1 1	LS	\$ 10,000.00	\$ 10,000,00	S	40,000.00	\$	40,000		
27		Chain Link Fence	705	LF	\$ 25,00	\$ 17,625,00	\$	26.00	\$	18,330.		
28		Traffic Control	1	LS	\$ 10,000.00	\$ 10,000.00	s	5,000.00	s	5,000		
29	SP16	Stormwater Pump Around	1	LS	\$ 30,000.00	\$ 30,000,00	\$	50,000,00	\$	50,000		
30		5' Concrete Sidewalk (CRM Std. 2.20)	237	SY	\$ 59.00	\$ 13,983.00	\$	87.00	\$	20,619		
31	CI	Allowance for Private Property Repair	1	LS	\$ 10,000.00	\$ 10,000.00	\$	10,000.00	\$	10,000.		
32		Standard Wheelchair Ramp (CRM Std. 2.21)	2	EA	\$ 1,000.00	\$ 2,000.00	\$	2,750.00	s	5,500		
33		Willow Oak (8' min. height at time of planting)	7	EA	\$ 300.00	\$ 2,100.00	\$	300.00	s	2,100		
34		Crepe Myrtle (3-gallon, min. 4' height at time of planting)	6	EA	\$ 300.00	\$ 1,800.00	s	200.00	s	1,200		
			TOTAL BASE	BID (ITEM	S 1 THROUGH 34):	\$ 493,638.00			\$	600,472		
ID ALTERNATE #1		,		,			4_					
BA1-1		Cast-in-Place Custom Culvert Headwall - 1	1	EA	\$37,000.00	\$ 37,000.00	s	30,000.00	\$	30,000		
BA 1-2		Cast-in-Place Custom Culvert Headwall - 2	1	EA	\$37,000.00	\$ 37,000,00	\$	30,000,00	\$	30,000.		
BA1-3		14'W x 7'H Cast-in-Place Culvert	15	LF	\$4,800,00	\$ 72,000.00	s	9,000.00	s	135,000.		

TOTAL FOR ALTERNATE #1 (ITEMS BA1-1 THROUGH BA1-3): \$

146,000.00

195,000.00



April 24, 2019

Mr. Donald Perry, PE City of Rocky Mount PO Box 1180 Rocky Mount, NC 27802-1180

RE:

City of Rocky Mount, North Carolina Parkers Canal Stream Stabilization Design Project WKD Project Number 20180121.00.RA Bid Tabulation and Recommendation

Dear Donald:

Formal bids for the referenced project were opened on April 9, 2019 at 2:00 PM EDT. Two bids were received, where the only two bidders, listed in ascending order, are BCS Contractors LLC, and Trader Construction Company. All bids contained the required 5% bid bond, acknowledged receipt of all addenda, identified their North Carolina General Contractors License number, enclosed the properly executed bid forms, supplemental forms and Minority and Women Business Enterprise forms. The Certified Bid Tabulation is attached to this Recommendation Letter.

During our review of the two bids that were submitted for this project, we found no math errors. The Certified Bid Tabulation reflects the correct numbers.

Based on our bid analysis and background check of the apparent low bidder, BCS Contractors LLC is the responsive lowest bidder with a Total Base Bid of \$493,638.00.

Based on the information received at this time, we recommend that the City of Rocky Mount award the Bid to BCS Contractors LLC in the amount of \$493,638.00 to perform the subject work.

As always, we appreciate the opportunity to provide you with our services and look forward to assisting you with the construction of this project.

Sincerely,

W.K. Dickson & Co., Inc.

Marc T. Horstman, PE, PH, CFM

Attachment

cc: Project File 20180121.00.RA (k) w/Bid Tabulation